,‘ Replaces Toro Groundsmaster 322-D

ﬁﬂ Parts
Traction Unit - Model 30788

" Deluxe Seat - Model 30772

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

ﬂﬁn Parts
Traction Unit - Model 30788

" Deluxe Seat - Model 30772

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

100-3187,
104-4620,
104-7620,
21-4880,
351-59,
351-76,

70 RMXB200GY 49-8130, Milsco Seat XB200 - Grey 1
63-9410,
66-5400,
75-9190,
750105,
92-6280,
MXB200GY

Tech Note: This seat will not accept seat belts:

Detail Description: The Milsco XB200 high back seat features a comfortable vacuum formed,
waterproof vinyl cover with central drain hole. Ergonomic foam cushion provides operator
comfort. Cover will not crack or peel. Rugged blow-molded plastic frame construction. Allows for
Twist-in operator presence switch. Seat: 19in W x 24in D x 21in H. Multiple pre-driled mounting
patterns. Grey. Made in U.S.A.<BR>Please note: Due to excessive air freight charges, this item will
be shipped ground freight.:

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

ﬂﬁn Parts
Traction Unit - Model 30788

" Deluxe Seat - Model 30772

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,

71 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 2
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

3256-23,
71 R310266 3256-3, Washer - Flat 5/16 USS 2
3556-3

322-2,

513338P Bolt - Hex HD 5/16-18 x 5/8 2

72 R322-2

322-2,

72 R400184 3723

Screw - 5/16-18 x 3/4 Hex 2

30-4020,

73 R445795 32128-25

Nut - 5/16-18 Flanged 4

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

ﬂﬁn Parts
Traction Unit - Model 30788

" Deluxe Seat - Model 30772

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

74 R453009 Washer - Flat 5/16 SAE 4

01-166-0110,
01-166-0510,
23-10-GD,
24-7170,
30-8520,

75 R3253-4 3253-4, Washer - Lock 5/16 Zinc 4
48-9350,
48-9360,
48-9570,
68-9420,
99-7577

01-150-1420,
01-178-0506,
20-24-AD,
20-24-AGD,
322-3,
48-9270,
513339,
908017P

76 R322-3 Bolt - Hex HD 5/16-18 x 3/4 4

01-150-0720,

01-178-0510,
77 R400190 30-8680, Bolt - Hex HD 5/16-18 x 1
322-6 1-1/4 GR5

513343

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

ﬂﬁn Parts
Traction Unit - Model 30788

" Deluxe Seat - Model 30772

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-158-0480,
01-189-0616,
22-13-AJF,
22-13-AJFD,
32127-19,
32127-32,
78 R321397 32146-2, Nut - 3/8-16 ESNA 1
32146-3,
32152-7,
32153-2,
32153-8,
3296-11,
Aug-80

01-188-0518,
22-12-AID,
32111-4,
3217-4,
3217-6,

79 R443106 3218-2, Nut - 5/16-18 Y/Zinc Plated 1
513295,
513412,
915112P,
915978,
915979

01-191-0518,
22-12-AKK,
79 RP457-2 3218-2, Nut - Jam 5/16-18 Zinc 1
513299,
P457-2

351-63,

51-0780,

51-0780 & 51-0790,
51-0780/51-0790,
51-0790,

66-8530

80 R150228 Adjusters - Seat (Set of 2) 1

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




